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1. A biome is characterized primarily by
a) climate and predominate plant types. b) temperature and moisture.

¢) flora and fauna. d) global weather patterns.
e) none of the above

2. Climatic diagrams provide all of the following information except:
a) wind patterns.

b) average minimum temperature above and below 0°C.,

c) temperature and precipitation variations.

d) wet and dry season durations.

e) none of the above

3. When an organism becomes acclimated to a new environmental situation; it will generally involve
a) physiological changes. b) genetic changes.

¢) sociological changes. d) both physiological changes and genetic changes.
¢) both genetic changes and sociological changes.

4. In general, a plant located in an arid climate will possess all of the following in order to prevent water loss

except:
a) waxy coating. b) decreased root biomass.
¢) decreased shoot biomass. d) increased root length.

e) reduced leaf size.

3. Herbivores, carnivores, and detritivores are all
a) omnivores. b} autotrophs. c) animals.
d) browsers. e) heterotrophs.

6. Fitness is defined as the

a) health of an individual organism.

b) ability of an organism to adapt to new environmental situations.

¢} quality of offspring produced.

d) number of genes contributed by an individual to the next generation.
e) all of the above

7. The Hardy-Weinberg principle states that

a) genotypic changes will result in phenotypic changes.

b) phenotypic changes will result in genotypic changes.

¢) allelic frequencies within a population will not change unless certain conditions are met.
d) allelic frequencies within a population will change unless certain conditions are met.

e) none of the above
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8.

In order to determine whether a species is common or rare, ecologists use all of the following criteria

except:

a)
d)

14.

a)
b)
c)
d)
e)

15.

a)
d)

habitat tolerance. b) evolutionary existence. c) geographical range.
local population size. ¢) none of the above

The age distribution of a population can reveal

growth potential. b) survivorship. c) reproduction,
both growth potential and survivorship. e) growth potential, survivorship and reproduction.

. An annual plant when initially colonizing an area will probably demonstrate

annual growth rate. b) geometric population growth.
exponential growth rate. d) logistic growth.
none of the above

- Which of the following is NOT a characteristic favored by K-selection?

low intrinsic rate of increase b) late reproduction

many, small offspring d) repeated bouts of reproduction
strong competitive ability
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. Gause’s “competitive exclusion principle” states that

when two species occur together, competition is always prevented by some behavioral adjustment.
no two species can coexist indefinitely.

no two competing species can coexist indefinitely.

no two species with identical niches can coexist indefinitely.

none of the above

. A keystone species is one

that makes up a very large proportion of total community biomass.

that feeds on a very large fraction of all available prey species.

that is fed on by a very large fraction of all predators in its community.

whose feeding activities have a disproportionate effect on the structure of its community.
that occupies the lowest level (the base) of the food web.

Nitrogen stable isotopes are useful tools for the study of food web structure because isotope ratios
change in predictable ways across trophic levels.

often vary among alternative food sources for a consumer.

for a predator exactly match the isotope ratio in its prey.

both (a) and (b)

both (b) and (c)

The rate of decomposition of leaf litter in woodlands can be stron gly influenced by
moisture. b} nitrogen content. c) leaf toughness.
all of the above e) none of the above
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16. The equilibrium model of island biogeo graphy explains diversity on islands as a balance between
a) speciation and extinction. b) immigration and extinction. ¢) speciation and emigration.
d) immigration and emigration. e) speciation and immigration.
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1. In the “Taiwan LTER Network”, L TER stands for :

2. is defined as a process that changes populations of Organismis over time, or as a process that changes
gene frequencies in a population.

3. are locally adapted and genetically distinctive populations within a species.
4. The total amount of energy fixed by autotrophs in an ecosystem is called

5. is the actual niche of a species whose distribution is restricted by biotic interactions such as competition,
predation, disease, and parasitism.

6. is the study of the relationships between organisms and the environment.
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